
1) 30 + (-8)

Answer: ____________

2) $292.00 earning 7% compound 
interest for 4 years.

Answer: ____________

3) 119.7 ÷ 17.1

Answer: ____________

4) Round 17.7180 to 1 significant figures.

Answer: ____________

5) Factorise 6s2 + 41s + 13

Answer: ____________

6) Factorise 6s2 + 41s + 13

Answer: ____________

7) Find the percentage change from 2 to 
20

Answer: ____________

8) Convert the following mixed number 
59/2 to an improper fraction.

Answer: ____________

9) Round 18.015282 to the nearest whole 
number.

Answer: ____________

10) Find the value of 's' by completing 
the square of the following equation: 
2 + 6s + 8

Answer: ____________

11) Round 9.236 to 1 decimal places.

Answer: ____________

12) 'What is the probability of rolling a 
number less than 6.when rolling a 
dice

Answer: ____________

13) 1/16 of 48

Answer: ____________

14) (-140) ÷ (-7)

Answer: ____________

15) 29.2 x 12.7

Answer: ____________
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16) 16 ÷ 8

Answer: ____________

17) Increase 34 by 1/17

Answer: ____________

18) Decrease 214 by 3/107

Answer: ____________

19) Decrease 214 by 3/107

Answer: ____________

20) 6 ÷ 3

Answer: ____________

Total: ___ / 20
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Answers:

1) 22 2) $382.75 3) 7 4) 20 5) (2s + 13)(s + 1) 6) (2s + 13)(s + 1) 7) 900%

8) 19/2 9) 18 10) (s + 3)2 - 1 11) 9.2 12) 5/6 13) 3 14) 20

15) 370.84 16) 2 17) 36 18) 208 19) 208 20) 2
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